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Strateqy 1: Comparison Model (Subtracting Excess)

1. Mrs Lim bought chocolates and sweets. She bought 50 more sweets than
chocolates. She bought 438 chocolates and sweets altogether. How many
chocolates did she buy?

2. Stuart and Jim each had a piece of rope. Altogether, their two ropes
measured 450 cm. Stuart’s rope was 248 cm longer than Jim’s. How long was
Jim’s rope?
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Strateqy 2: Comparison Model (Completing the Unit)

1. A furniture store sold a total of 254 beds, chairs, and desks. The number of
beds was 4 times the number of chairs. The store sold 34 more chairs and
desks. How many chairs did the store sell?

2. A bookshop has a total of 214 picture books, storybooks, and textbooks.
There were 3 times as many textbooks as storybooks. There were also 36
more storybooks than picture books.

How many storybooks are there?
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Strateqy 3: Comparison Model (3 Parties)

1. Lyra, Rhonda, and Tammy had a total of $2100. Rhonda had $750 more than
Lyra and Tammy had $240 less than Rhonda. How much money did Rhonda

have?

2. An animal shelter has a total of 578 cats, dogs, and rabbits. There are 3 times
as many cats as dogs. There are 30 rabbits.
a. How many cats and dogs are there altogether?
b. How many dogs are there?
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Higher Order Questions

1. Mary saved just enough money to buy 3 dresses at $ 120 each. If she did not
buy the dresses, she can buy 4 Barbie dolls with the same amount of money.
a. How much does each Barbie doll cost?
b. How much will 3 dresses and 3 Barbie dolls cost?
(P3/SA2/2020/SCGS)

2. Sammy and Ali had an equal number of marbles at first. Ali gave Sammy 408
marbles. In the end, Sammy had 830 marbles.
a. How many marbles did Ali have in the end?
b. How many marbles did the two boys have altogether?



